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Supplementary Material

Response to instantaneous variations in incoming sedimentary flux

and relative precipitation rate.

In the following figures, we show the response of the system to:

1. a step decrease in the incoming sedimentary flux (Figure S1);
2. an increase in relative precipitation rate (Figure S2);

3. and, a decrease in relative precipitation rate(Figure S3)
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Figure S1: Same as Figure 9 but for a decrease in incoming sedimentary flux by a

factor of 2.
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Figure S2: Same as Figure 9 but for an increase in relative precipitation rate by a

factor of 2.
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Figure S3: Same as Figure 9 but for a decrease in relative precipitation rate by a factor

of 2.



